Conversion of the COMP 3 values:
If the total of all the digits in the PIC is odd:


Then


 No. Of digits + 1

       

 2

If the total of all the digits in the PIC is even:


Then


No. Of digits
  +   1





2

Eg:

PIC S9 (05) V9 (02)
Sum of all the digits in PIC:
5 + 2 = 7

The sum here is odd, therefore, using first formula,

(7 + 1)/2
= 4

Therefore, the converted value will be of 
04 P 02
The conversion table for COBOL to EZTRIEVE values (vice versa) is as below:


DB2

COBOL

EZT


LENGTH IN  









BYTES


Small Int

S 9 (04) COMP
02 B 0

02 Half Word


Integer

S 9 (09) COMP
04 B 0

04 Full Word


Numeric

9 (08)


08 N 0

08


Alpha Numeric
X (10)


10 A


10


Numeric with
9 (06) V 9 (02)
08 N 2

08

Decimal (08,02)


Numeric with 
9 (08) V 9 (02)
06 P 2

06

Decimal (10,02)
COMP-3

(Packed)


DATE

CCYY-MM-DD
YYMMDD

MM/DD/CCYY
10

